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Name:_____________________________
Advisory:__________________________
Date: _________________
Unit 1: Rational Numbers
Summative Assessment Retake
	Skill
	Questions
	Score Needed for Mastery
	Score
	Mastery

	7.NS.1a  
Zero Sums and Opposites

	Calculator Inactive:
MC: 14

	
Calculator Active:


	1 / 1
	___ / 1 =

 ______%
	

	7.NS.1b  
Adding Rational Numbers(conceptual)
	Calculator Inactive:
MS:10


	Calculator Active:
MC:28,30(2pts)
	4 / 4
	___ / 4 =

______%
	

	7.NS.1C  
Subtracting Rational Numbers(conceptual)
	Calculator Inactive:
 
	
Calculator Active:
OR: 31(2pts)
	2/ 2
	___ / 2 =

_______%
	

	7.NS.1d  
Add and Subtract Rational Numbers

	Calculator Inactive:
MC: 6,7,8,9

	Calculator Active:
OR:29(2pts)

	5/ 6
	[bookmark: _GoBack]___ / 6 =

_______%
	

	7.NS.2a  
Multiply Rational Numbers

	Calculator Inactive:
MC:11,12

	Calculator Active:
OR: 32(2pts)
	4/ 4
	___ / 4 =

_______%
	

	7.NS.2b  
Dividing Rational Number

	Calculator Inactive:
MC: 4

	Calculator Active:
OR:21
	2 / 2
	___ / 2 =

_______%
	

	7.NS.2c  
Multiply and Divide Rational Numbers
	Calculator Inactive:
MC:3

	Calculator Active:
OR:18,19,20,22
	4 / 5
	___ / 5 =

_______%
	

	7.NS.2d 
Convert rational number to decimals
	Calculator Inactive:
MC:1,5

	Calculator Active:
OR: 23,24,25,26
	5 / 6
	___ / 6 =

_______%
	

	CC 7.NS.3  
Solve real-world problems 
	Calculator Inactive:
OR:2, 13,15,16,17
 
	Calculator Active:

	4 / 5
	___ /5 =

_______%
	


Unit 1 Mastery: ____________%
Overall Mastery: _______________%
Parent Signature: __________________________________________________


Part 1: Calculator Inactive
For 1-2 Use the following:
[image: ]
[image: ]	Comment by Jessica Cutler: NS.2d

C
1. 
a. 1.6
b. 1.
c. 0.625
d. 0.
2. [image: ]	Comment by Jessica Cutler: ¼ is equivalent to 2/8 we could multiply .25 times 2 ½ to get the decimal. Or know it is between 4/8 and 6/8

NS.2d






3. [image: ]	Comment by Jessica Cutler: NS.2c

C



[image: ]	Comment by Jessica Cutler: 2b

B
4. 








5. [image: ]	Comment by Jessica Cutler: 2d

B






For 6-9 mark A for true, B for False
[image: ]	Comment by Jessica Cutler: 1d

A B A A
6. 
7. 
8. 
9. 

[image: ]	Comment by Jessica Cutler: 1b

AC
10. 














For 11-13 Use the following:
[image: ]
11. What is an appropriate estimate for the amount of change for a week (7 days)?	Comment by Jessica Cutler: 2a

C
a. -5
b. -10
c. -7 
d. – 15
12. Use exact values, what is the amount of total change in water evaporated?	Comment by Jessica Cutler: 2a

C
a. –8 
b. -7 
c. -11 
d. -15 
13. [image: ]





14. [image: ]	Comment by Jessica Cutler: 1a

B










For numbers 15-17 use the following:

[image: ]

15. [image: ]


16. [image: ]


17. [image: ]

[image: ]	Comment by Jessica Cutler: 1b 15-17


















Part 2-Calculator Active

18- 22 Fill in the blanks to complete each statement and make it true
[image: ]	Comment by Jessica Cutler: Calculator

2.6
-15
-10
-9/20
-8

2c
18. 
19. 
20. 
21. 
22. 


23- 26 use the following. Mark a for True and B for False:
[image: ]	Comment by Jessica Cutler: B
A
A
B

2d
23. 
24. 
25. 
26. 



27. [image: ]	Comment by Jessica Cutler: MOVE TO CALCULATOR

2b

C


a. 8.64
b. -8.64
c. 13.5
d. -13.5



28. [image: ][image: ]	Comment by Jessica Cutler: 1b

C
a. 9.25
b. -9.25
c. 2.75
d. 3.75

29-31 complete the following:
[image: ]	Comment by Jessica Cutler: 29. 1d -12


30. 1b 33


31. 1c -22
29. 




30. 



31. 





32. [image: ]	Comment by Jessica Cutler: 2a

True. It will be negative.
image3.png
Kesia knows that 7 = 0.25. Explain how she could use this fact to determine the
decimal equivalent of 5.





image4.png
Which expression has a negative value?
A 12408 c -6
B 72+ (-9 D -14+2




image5.png
Which situation could the expression —1&

A

15 represent?

Atemperature increases 16°F over 4 minutes. So the temperature increased by
4°F per minute.

Each of 4 golfers has the same score after 18 holes. The total of their scores is —16.
S0 each golfer’s score is —4.

Afootball team loses 16 yards in one play. They gain 4 yards in the next play.
In the two plays combined, the team lost 4 yards.

Over 4 weeks, Monique withdraws $16 per week from her bank account.
Altogether, she withdraws $64.
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Julian saves 5 of the money he makes babysitting. What is 5 written as a decimal?
A 14

B 0.714285
c 07
D 5

7 cannot be written as a decimal.




image7.png
~25+(-35)=-6
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Which of the following expressions represents a positive number? Choose all
that apply.

A -225-(-3)
B 23+ (-24)

C 4-(2
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image9.png
As water evaporates from a potted plant, its weight changes at a rate of
13 ounces per day.




image10.png
Explain how your estimate shows your answer is reasonable.





image11.png
In which situation do the quantities combine to make 07

A

Juan spent $20. The next day, he earned $10 per hour for 25 hours
of babysitting.

Erica deposited $75 into her savings account. She withdrew $75 the
following week.

The predicted high temperature for a winter day is 7°C and the prediicted
low temperature is ~7°C.

Adeep-sea diver descends 15 meters, pauses, and then descends another
15 meters.




image12.png
The temperature of a solution in a science experiment is 6.2°C. Jesse wants to raise
the temperature so that it is positive.




image13.png
Give an example of a number of degrees Celsius by which Jesse could raise the
temperature.




image14.png
Write an equation to represent the situation.




image15.png
Draw a number line and use arrows to represent the equation you wrote




image16.png




image17.png
—65+(-04) =

~4.5+18+32




image18.png
2.27 is a terminating decimal.
3.14is a terminating decimal.
The decimal equivalent of -2 is a repeating decimal.

The decimal equivalent of § is  repeating decimal.
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image19.png
The temperature of a liquid in an experiment starts at 0°C. The experiment calls for the
temperature of the liquid to change at a rate of ~0.8°C per minute. How long will it take
for the liquid to reach —10.8°C? Estimate to show that your answer is reasonable.
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Find the sum




image21.png
Consider the expression 6 + (~3.25).




image22.png
~28— (-16) =

45+ (-12) =

=15-37





image23.png
Cody claims that when ¢ is multiplied by a negative number, the result will
always beless than £ Do you agree with Cody? Explain. Give examples to support

your answer.
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| Kesia s practicing her free throws. She made 3 of the shots she took at basketball
practice today.
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Use long division to find the decimal equivalent of 3.
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